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Very Short Answer Questions

1. What are Financial Statements ?

View Text Solution

2. Define Statement of Profit and Loss/Income Statement.

View Text Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PahEDEiOUbn5
https://dl.doubtnut.com/l/_OTuTbb55Rja1


3. Define Balance Sheet.

View Text Solution

4. What is the importance of Financial Statement?

View Text Solution

5. Name two sections of a company's Balance Sheet.

View Text Solution

6. Name the major headings under which the Assets part of a company's

Balance Sheet is organised and presented.

View Text Solution

https://dl.doubtnut.com/l/_TZlP2hi7rU8x
https://dl.doubtnut.com/l/_ZVTXlrYQw5Dw
https://dl.doubtnut.com/l/_2NGl5jPsbGey
https://dl.doubtnut.com/l/_1FaQizODBMGq


7. What is meant by the term financial year?

View Text Solution

8. State the first heading under Equity and Liabilities part of the Balance

Sheet of a company as per the Schedule III.

View Text Solution

9. Name any two items shown under the heading Non-current Liabilities.

View Text Solution

10. Name any two items shown under the heading Current Liabilities.

View Text Solution

https://dl.doubtnut.com/l/_0AbbeKQG7cOB
https://dl.doubtnut.com/l/_SvGe2oC6yU7f
https://dl.doubtnut.com/l/_jGZfdeQq2pyG
https://dl.doubtnut.com/l/_lImXgaergqIV


11. What is meant by Share Application Money Pending Allotment?

View Text Solution

12. How is 'Share Application Money' shown in a company's Balance Sheet?

View Text Solution

13. How is debit balance (loss) of Surplus, i.e., Balance in Statement of

Profit and Loss shown?

View Text Solution

14. What is meant by an Operating Cycle?

View Text Solution

https://dl.doubtnut.com/l/_Eu3LIRDHeDph
https://dl.doubtnut.com/l/_g39NAMiVdPnF
https://dl.doubtnut.com/l/_DkfxBFYbgyi7
https://dl.doubtnut.com/l/_gJSkVflBxtos


15. What is 'Trade Receivables'?

View Text Solution

16. When is a receivable classified as 'Trade Receivables?

View Text Solution

17. What is 'Trade Payables'?

View Text Solution

18. When is a payable classified as 'Trade Payable'?

View Text Solution

19. Name any two reserves shown under 'Reserves and Surplus'.

https://dl.doubtnut.com/l/_BnfVXlBdIhZs
https://dl.doubtnut.com/l/_P68crZfZm2TY
https://dl.doubtnut.com/l/_S5V9WsTLGkOv
https://dl.doubtnut.com/l/_INiUbCK9Lw8P
https://dl.doubtnut.com/l/_mJ81E5F71z17


View Text Solution

20. What is meant by a Fund?

View Text Solution

21. Name any two Long-term Borrowings.

View Text Solution

22. Name any two Short-term Borrowings.

View Text Solution

23. Name the head under which the 'Calls-in-Advance' is shown in the

company's Balance Sheet.

View Text Solution

https://dl.doubtnut.com/l/_mJ81E5F71z17
https://dl.doubtnut.com/l/_KCyQv0QjBOc1
https://dl.doubtnut.com/l/_PUXLqb7UU4PJ
https://dl.doubtnut.com/l/_jAUMq6gybJ89
https://dl.doubtnut.com/l/_mC1oTM5MAd9B


24. Name the head under which the 'Current Maturity of Long'term Debts'

is shown in the company's Balance Sheet.

View Text Solution

25. How is unamortised portion of Share Issue Expenses, Discount on

Issue of Debentures and Loss on Issue of Debentures shown?

View Text Solution

26. Give the meaning of 'Long-term Provisions'.

View Text Solution

27. What is Contingent Liability?

View Text Solution

https://dl.doubtnut.com/l/_mC1oTM5MAd9B
https://dl.doubtnut.com/l/_RgeCglfORyei
https://dl.doubtnut.com/l/_gOspUJLP1PG9
https://dl.doubtnut.com/l/_npHFBYRe31D2
https://dl.doubtnut.com/l/_I89IS9lv2klh


28. Mention any two items of Contingent Liability of a company.

View Text Solution

29. Name two components of total revenue of a company.

View Text Solution

30. What is meant by Analysis of Financial Statements?

View Text Solution

31. What is Horizontal Analysis?

View Text Solution

https://dl.doubtnut.com/l/_I89IS9lv2klh
https://dl.doubtnut.com/l/_JwyGHenacCxd
https://dl.doubtnut.com/l/_CiGYbbXCqrx5
https://dl.doubtnut.com/l/_zeLIpiklhGZB
https://dl.doubtnut.com/l/_b7NjpaYHozvq


32. Why Horizontal Analysis is considered dynamic in nature?

View Text Solution

33. What is Vertical Analysis?

View Text Solution

34. Give an example of Horizontal and Vertical Analysis.

View Text Solution

35. What is intra-firm Analysis?

View Text Solution

36. What is inter-firm Analysis?

https://dl.doubtnut.com/l/_aJNnk7q1jvpd
https://dl.doubtnut.com/l/_AeUhJvtcbxG2
https://dl.doubtnut.com/l/_rPvC85moXtgX
https://dl.doubtnut.com/l/_SuNSt8hFaInA
https://dl.doubtnut.com/l/_MMd5ShAz5ECS


View Text Solution

37. Name the three financial characteristics which are analysed by

Financial Analysis.

View Text Solution

38. Give two areas of interest for investors which are analysed by

Financial Statements.

View Text Solution

39. Give two areas of interest for management while analysing the

Financial Statements.

View Text Solution

https://dl.doubtnut.com/l/_MMd5ShAz5ECS
https://dl.doubtnut.com/l/_Cv7WUz5KDz0V
https://dl.doubtnut.com/l/_w22l7d5QwEeu
https://dl.doubtnut.com/l/_Jt67HUJ72JFB


40. Give two areas of interest for bankers/lenders while analysing the

Financial Statements.

View Text Solution

41. How is financial strength of a business unit assessed?

View Text Solution

42. Sate the significance of Analysis of Financial Statement to the

'Creditors'.

View Text Solution

43. Give two purposes which are served by Analysis of Financial

Statements.

View Text Solution

https://dl.doubtnut.com/l/_NodroPvJIaVN
https://dl.doubtnut.com/l/_moKJDo7l1OgQ
https://dl.doubtnut.com/l/_fi1WFY6d23xo
https://dl.doubtnut.com/l/_UOzfu7xoB5QC


44. One of the objectives of 'Financial Statements Analysis' is to identify

the reasons for change in the financial position of the enterprise. State

two more objectives of this analysis.

View Text Solution

45. One of the objectives of 'Financial Statements Analysis' is to judge the

ability of the firm to repay its debt and assessing the short-term as well

as the long-term liquidity position of the firm. State two more objectives

of this analysis.

View Text Solution

46. One of the objectives of 'Financial Statement Analysis' is to ascertain

the relative importance of the different components of the financial

position of the firm. State two more objectives of this analysis.

View Text Solution

https://dl.doubtnut.com/l/_UOzfu7xoB5QC
https://dl.doubtnut.com/l/_n73L7CoHYUH3
https://dl.doubtnut.com/l/_xo2lm2Hsi88Q
https://dl.doubtnut.com/l/_IS1c3c73ZCUe


47. Why are investors interested in analysing Financial Statement? 

Or 

State the interest of investors in the Analysis of Financial Statements.

View Text Solution

48. State the interest of tax authorities in the Analysis of Financial

Statements.

View Text Solution

49. State the interest of trade unions in the Analysis of Financial

Statements.

View Text Solution

https://dl.doubtnut.com/l/_IS1c3c73ZCUe
https://dl.doubtnut.com/l/_HuH4gciAiwF1
https://dl.doubtnut.com/l/_TDjSlAEHrZva
https://dl.doubtnut.com/l/_3SW1TrlPAGEQ


50. How is Financial Statement Analysis useful to Finance Manager?

View Text Solution

51. Explain how Financial Statement Analysis ignores qualitative elements.

View Text Solution

52. State any one objective of Financial Statement Analysis.

View Text Solution

53. State any one limitation of Financial Statement Analysis.

View Text Solution

54. How is 'window dressing' a limitation of Financial Statement Analysis?

https://dl.doubtnut.com/l/_PtXawdiEmaMv
https://dl.doubtnut.com/l/_F3a8GUldYCXh
https://dl.doubtnut.com/l/_fuG3WxfXsVme
https://dl.doubtnut.com/l/_bsA88AJnCbZL
https://dl.doubtnut.com/l/_oSrzaSdJixni


View Text Solution

55. How does 'subjectivity' become a limitation of Financial Statement

Analysis?

View Text Solution

56. State any two limitations of Financial Statement Analysis. 

Or 

State any two limitations of 'Analysis of Financial Statement'.

View Text Solution

57. Name two parties interested in Financial Statement Analysis.

View Text Solution

https://dl.doubtnut.com/l/_oSrzaSdJixni
https://dl.doubtnut.com/l/_AhiEN7ttJFqk
https://dl.doubtnut.com/l/_cwhkKvAjoHSP
https://dl.doubtnut.com/l/_jC6tTwGSNp9m


58. State the significance of Analysis of Financial Statement to 'Top

Management'.

View Text Solution

59. State why shareholders are interested in Financial Statement Analysis.

View Text Solution

60. State the significance of Analysis of Financial Statement to the

'lenders'.

View Text Solution

61. Name any two tools of Analysis of Financial Statements.

View Text Solution

https://dl.doubtnut.com/l/_FWxSpr2lIMD1
https://dl.doubtnut.com/l/_gphyWzSQtryU
https://dl.doubtnut.com/l/_4VGwBhqHr5mB
https://dl.doubtnut.com/l/_iqx1TTJmYToM
https://dl.doubtnut.com/l/_WX5KyKa7ww9u


62. Which item is assumed to be 100 while preparing Common-Size

Statement of Profit and Loss?

View Text Solution

63. What is meant by a Common-Size Statement?

View Text Solution

64. What is meant by Comparative Financial Statement?

View Text Solution

65. What is Comparative Balance Sheet ?

View Text Solution

https://dl.doubtnut.com/l/_WX5KyKa7ww9u
https://dl.doubtnut.com/l/_pMrYazsVcraD
https://dl.doubtnut.com/l/_5pCACSUkgL4N
https://dl.doubtnut.com/l/_q78MymyYqRiJ


66. What is understood by Accounting Ratio?

View Text Solution

67. What is meant by Ratio Analysis?

View Text Solution

68. State any two limitations of Ratio Analysis.

View Text Solution

69. State the limitation of ratio analysis regarding qualitative aspect.

View Text Solution

https://dl.doubtnut.com/l/_6t5brcvuWQp2
https://dl.doubtnut.com/l/_w4F2nm9qnnd9
https://dl.doubtnut.com/l/_9QogjgqZw7pe
https://dl.doubtnut.com/l/_3a9Okwrgf81M


70. Comparison with the help of ratios is not possible if different firms

follow different Accounting Policies. Comment.

View Text Solution

71. How does ratio analysis become less effective due to price level

change?

View Text Solution

72. What is meant by Liquidity of Business?

View Text Solution

73. What is measured by Liquidity Ratios?

View Text Solution

https://dl.doubtnut.com/l/_L3pZFbHifq2x
https://dl.doubtnut.com/l/_A1Rpu0zwIGPS
https://dl.doubtnut.com/l/_GTT1j2HRo9h5
https://dl.doubtnut.com/l/_I0OzvVQf1OPN
https://dl.doubtnut.com/l/_3z4aAytrCGi9


74. Name the ratios that show the liquidity of an enterprise.

View Text Solution

75. What is Quick Ratio?

View Text Solution

76. Why Losse Tools and Stores and Spares are not included in Current

Assets while calculating Current Ratio?

View Text Solution

77. Assuming that the Current Ratio is 2 : 1, state giving reason whether

the ratio will improve, decline or will have no change in case a Bills

Receivable is dishonoured.

View Text Solution

https://dl.doubtnut.com/l/_3z4aAytrCGi9
https://dl.doubtnut.com/l/_q8aEfUIkOhqK
https://dl.doubtnut.com/l/_9xCq9jRAPwdt
https://dl.doubtnut.com/l/_LNMcDtaLDb36


78. Current Ratio of a company is 3 : 1. State with reason whether the

payment of Rs. 20,000 to the creditors will increase, decrease or not

change the ratio.

View Text Solution

79. Why are inventories not considered as Quick Assets?

View Text Solution

80. What is meant by Solvency?

View Text Solution

81. List any three important Solvency Ratios.

View Text Solution

https://dl.doubtnut.com/l/_LNMcDtaLDb36
https://dl.doubtnut.com/l/_N6e9VlKp7AQ5
https://dl.doubtnut.com/l/_jKNjeCmpmWFx
https://dl.doubtnut.com/l/_pG8hFBTt2jDV
https://dl.doubtnut.com/l/_PXLaCq5PwIeM


82. How the solvency of a business is assessed by Financial Statement

Analysis.

View Text Solution

83. Assuming that the Debt to Equity Ratio is 1 : 2, state giving reason,

whether the ratio will improve, decline or will have no change in case

Equity Shares are issued for cash.

View Text Solution

84. What is meant by 'Activity Ratios'?

View Text Solution

85. What does low Trade Receivables Turnover Ratio indicate?

View Text Solution

https://dl.doubtnut.com/l/_xXB1Q5PyqV6v
https://dl.doubtnut.com/l/_Yy77VOOETKl5
https://dl.doubtnut.com/l/_DKTvghBJIRPS
https://dl.doubtnut.com/l/_5Y1Z65LmWh8B


86. What does a low Working Capital Turnover Ratio indicate?

View Text Solution

87. How is Inventory Turnover Ratio computed?

View Text Solution

88. How is Average Inventory computed?

View Text Solution

89. Inventory Turnover Ratio of a company is 3 times. State, giving reason,

whether the ratio improves, declines or does not change because of

increase in the Value of closing stock by Rs. 5,000.

View Text Solution

https://dl.doubtnut.com/l/_5Y1Z65LmWh8B
https://dl.doubtnut.com/l/_GP1iiiSErs42
https://dl.doubtnut.com/l/_uShrmyTCiNtm
https://dl.doubtnut.com/l/_plJsIC2q5log
https://dl.doubtnut.com/l/_60N8AyTIhUxf


90. Trade Receivables Turnover Ratio of a company is 6 times. State with

reason whether the ratio will improve, decrease or not change due to

increase in the value of Closing Inventory (Stock) by Rs. 50,000.

View Text Solution

91. What is meant by 'Profitability' of Business?

View Text Solution

92. How can the profitability of a firm be measured?

View Text Solution

93. What is meant by 'Profitability Ratio'?

View Text Solution

https://dl.doubtnut.com/l/_60N8AyTIhUxf
https://dl.doubtnut.com/l/_korHzluAvR8S
https://dl.doubtnut.com/l/_NSedELKDXSVe
https://dl.doubtnut.com/l/_UXGiSzMiyw6d
https://dl.doubtnut.com/l/_ZfEPDH8Pb9gg


94. State two profitability ratios based on sales.

View Text Solution

95. What is Gross Profit?

View Text Solution

96. What is Operating Profit?

View Text Solution

97. What does Gross Profit Ratio indicate?

View Text Solution

98. What is Operating Cost?

https://dl.doubtnut.com/l/_mc4LKY2NoJ7K
https://dl.doubtnut.com/l/_AUIdi9VJWpYo
https://dl.doubtnut.com/l/_kCjUPpePgqn9
https://dl.doubtnut.com/l/_JhhEuU2MoTyt
https://dl.doubtnut.com/l/_Kmz5bKS6S6FP


View Text Solution

99. Name the ratio which shows the relationship between operating

profit and Revenue from Operations (Net Sales).

View Text Solution

100. What will be the Operating Profit Ratio, if Operating Ratio is 

?

Watch Video Solution

88.94 %

101. What will be the Operating Profit Ratio, if Operating Ratio is 

?

Watch Video Solution

81.38 %

https://dl.doubtnut.com/l/_Kmz5bKS6S6FP
https://dl.doubtnut.com/l/_mDiqJCLUzn9b
https://dl.doubtnut.com/l/_fua4fcaWm57j
https://dl.doubtnut.com/l/_eRs9VA5luJO5


102. What will be the Operating Profit Ratio, if Operating Ratio is 82.95%?

Watch Video Solution

103. Name Profitability Ratio based on investment.

View Text Solution

104. What is the meaning of 'Investment' for the purpose of 'Return on

Investment' ratio?

View Text Solution

105. What are Trade Investments?

View Text Solution

https://dl.doubtnut.com/l/_IZyeawWp9aVM
https://dl.doubtnut.com/l/_GFCDSTygdBoF
https://dl.doubtnut.com/l/_fmLRyEV1ekCE
https://dl.doubtnut.com/l/_NOZ9Q5sPrpXA


106. What does 'ROI' ratio indicate?

View Text Solution

107. A company has earned Rs. 5,00,000 as profit before interest and tax.

Its ROI is 20%. State the capital employed in the company.

Watch Video Solution

108. What is meant by a Cash Flow Statement?

View Text Solution

109. Why is Cash Flow Statement prepared? 

Or 

What is the objective of preparing a Cash Flow Statement? 

https://dl.doubtnut.com/l/_DOhWpb9Tnc8X
https://dl.doubtnut.com/l/_0qcxJtLq9QQr
https://dl.doubtnut.com/l/_Z17nNmL3iaMX
https://dl.doubtnut.com/l/_sxMOIs2s8Gdl


Or 

State the primary objective of preparing Cash Flow Statement.

View Text Solution

110. Define cash as per Accounting Standard-3. 

Or 

What is meant by 'Cash'? 

Or 

Cash Flow Statement shows inflows and outflows of 'Cash' and 'Cash

Equivalents' from various activities of an enterprise during a particular

period. Give the meaning of 'Cash' for the purpose of preparing Cash Flow

Statement.

View Text Solution

111. Define the Cash Equivalents as per Accounting Standard-3. 

Or 

What is meant by Cash Equivalents? 

https://dl.doubtnut.com/l/_sxMOIs2s8Gdl
https://dl.doubtnut.com/l/_OwFb9fGPdXnP
https://dl.doubtnut.com/l/_TmQ8qPQYGaj2


Or 

What are Cash Equivalents? 

Or 

What is meant by 'Cash Equivalents' while preparing Cash Flow

Statement? 

Or 

Give the meaning of 'Cash Equivalents' for the purpose of preparing Cash

Flow Statement.

View Text Solution

112. Give two examples of Cash Equivalents.

View Text Solution

113. Normally, what should be the maturity period for a short-term

investment from the date of its acquisition to be qualified as Cash

Equivalents?

Vi T t S l ti

https://dl.doubtnut.com/l/_TmQ8qPQYGaj2
https://dl.doubtnut.com/l/_GJLX1YstTQjj
https://dl.doubtnut.com/l/_s0AV2cfpwvW3


View Text Solution

114. What is meant by Cash Flow?

View Text Solution

115. What is meant by Outflow of Cash while preparing Cash Flow

Statement?

View Text Solution

116. What is meant by Operating Activities?

View Text Solution

117. What is meant by 'Cash from Operating Activities'?

View Text Solution

https://dl.doubtnut.com/l/_s0AV2cfpwvW3
https://dl.doubtnut.com/l/_zVkRdncUBKTW
https://dl.doubtnut.com/l/_JHEF7AyfxTyc
https://dl.doubtnut.com/l/_uhScqcX57RQz
https://dl.doubtnut.com/l/_genKlTCJrjrj


118. What is meant by Investing Activities?

View Text Solution

119. What is meant by Cash Flow from Financing Activities?

View Text Solution

120. Give one difference between an Operating Activity and a Financing

Activity.

View Text Solution

121. Give one difference between an Operating Activity and a Investing

Activity.

View Text Solution

https://dl.doubtnut.com/l/_E0Md2Kwag0kY
https://dl.doubtnut.com/l/_JFGuIEymGviU
https://dl.doubtnut.com/l/_c14tp9AmScTC
https://dl.doubtnut.com/l/_ewcOUake1blS
https://dl.doubtnut.com/l/_p1tyDbipu9KS


122. Give an example of an activity which is a Financing Activity for every

type of enterprise.

View Text Solution

123. Give any two transactions which result into inflow of cash.

View Text Solution

124. Give one transaction which may result into outflow of cash and one

which may result into no flow of cash.

View Text Solution

125. Give one difference between an Investing Activity and a Financing

Activity.

View Text Solution

https://dl.doubtnut.com/l/_p1tyDbipu9KS
https://dl.doubtnut.com/l/_tvXbWpOiZbui
https://dl.doubtnut.com/l/_VK6k0IS3TuLZ
https://dl.doubtnut.com/l/_cZCRITjLb6hM


126. State whether cash deposited in bank will result in inflow, outflow or

no flow of cash.

View Text Solution

127. Interest received by a finance company is classified under which kind

of activity while preparing Cash Flow Statement?

View Text Solution

128. State why Cash Flow Statement is not a substitute for income

statement.

View Text Solution

129. Why is specific disclosure of Cash Flow from Financing Activities

important while preparing Cash Flow Statement?

https://dl.doubtnut.com/l/_cZCRITjLb6hM
https://dl.doubtnut.com/l/_Eh5ltGSH6und
https://dl.doubtnut.com/l/_nMJR5U2P1D3Z
https://dl.doubtnut.com/l/_E2I38OG7fP76
https://dl.doubtnut.com/l/_dm9M4BPRQDmW


View Text Solution

130. Why is separate disclosure of Cash Flow from Investing Activities

important while preparing Cash Flow Statement?

View Text Solution

131. Mention the net amount of 'Source' or 'Use' of cash when a fixed asset

(having book value of Rs. 15,000) is sold at a loss of Rs. 5,000.

Watch Video Solution

132. Under which type of activity will you classify 'Commission and Royalty

Received' while preparing Cash Flow Statement?

View Text Solution

https://dl.doubtnut.com/l/_dm9M4BPRQDmW
https://dl.doubtnut.com/l/_hFFyOsEOPJYl
https://dl.doubtnut.com/l/_bTdGNcc7uo81
https://dl.doubtnut.com/l/_cgvoewZWC32m


133. Under which type of activity will you classify 'Cash Receipts from

Debtors' while preparing Cash Flow Statement?

View Text Solution

134. Under which type of activity will you classify 'Proceeds from Sale of

Buildings' while preparing Cash Flow Statement?

View Text Solution

135. Redemption of Debentures' would result in inflow, outflow or no flow

of cash. Give your answer with reason.

View Text Solution

136. Purchase of patents would result in inflow, outflow or no flow of cash.

Give your answer with reason.

https://dl.doubtnut.com/l/_6aFLzN4xI0zw
https://dl.doubtnut.com/l/_KKl0JDd9qOw0
https://dl.doubtnut.com/l/_YYg1Cuc312cv
https://dl.doubtnut.com/l/_E27TjaUnRyIG


View Text Solution

137. Under which type of activity will you classify 'sale of shares of another

company' while preparing Cash Flow Statement?

View Text Solution

138. Give one limitation of Cash Flow Statement.

View Text Solution

139. Give one advantages of Cash Flow Statement.

View Text Solution

140. How is purchase of goodwill shown in Cash Flow Statement?

View Text Solution

https://dl.doubtnut.com/l/_E27TjaUnRyIG
https://dl.doubtnut.com/l/_mRVMsRoI6apW
https://dl.doubtnut.com/l/_zlJFpbcoCrpD
https://dl.doubtnut.com/l/_pgfVWaeVkfAR
https://dl.doubtnut.com/l/_NlE6MwCGyBV0


141. Give an example of an activity which remains financing activity for

every enterprise.

View Text Solution

142. Dividend paid by a finance company is classified under which kind of

activity while preparing Cash Flow Statement.

View Text Solution

143. Dividend paid by a manufacturing company is shown under which

kind of activity while preparing Cash Flow Statement.

View Text Solution

144. When does the Flow of Cash take place?

View Text Solution

https://dl.doubtnut.com/l/_NlE6MwCGyBV0
https://dl.doubtnut.com/l/_Cnx8FopjHuqt
https://dl.doubtnut.com/l/_tFoEinj86UQQ
https://dl.doubtnut.com/l/_Nf9NvMY08zFv
https://dl.doubtnut.com/l/_BOXKHMfbt97j


View Text Solution

145. When is interest received considered as financing activity?

View Text Solution

146. What are two major inflows and outflows of cash from financing

activities?

View Text Solution

147. In which category following items will be classified while preparing

Cash Flow Statement of State Bank of India? 

(i) Interest and dividend received by the bank. (ii) Purchase of Computer.

View Text Solution

https://dl.doubtnut.com/l/_BOXKHMfbt97j
https://dl.doubtnut.com/l/_ZuMdM9SJ4YFe
https://dl.doubtnut.com/l/_9VRRKZJfo1vH
https://dl.doubtnut.com/l/_B4c4iQObdurT


148. In which activity will you include the payment of interest on loan by a

manufacturing company while preparing Cash Flow Statement?

View Text Solution

149. State whether the payment of cash to creditors will result in inflow,

outflow or no flow of cash.

View Text Solution

150. State with reason, whether 'Discount received on making payment to

suppliers' would result into inflow, outflow or no flow of cash.

View Text Solution

151. State with reason, whether 'Purchase of fixed asset on long-term

deferred payment' would result in inflow, outflow or no flow.

https://dl.doubtnut.com/l/_Jhyy1dvWrehL
https://dl.doubtnut.com/l/_5VrzRo5SNnPn
https://dl.doubtnut.com/l/_L23wvq5zFVT3
https://dl.doubtnut.com/l/_l3FP5wrED7Pz


View Text Solution

152. State with reason, whether charging of depreciation on furniture will

result into inflow, outflow or no flow of cash.

View Text Solution

153. State how Cash Flow Statement are historical in nature.

View Text Solution

154. State with reason, whether the issue of 9% Debentures to the

vendors for the purchase of machinery of Rs. 50,000 will result in inflow,

outflow or no flow of cash.

View Text Solution

https://dl.doubtnut.com/l/_l3FP5wrED7Pz
https://dl.doubtnut.com/l/_VSJRJbOpcEOl
https://dl.doubtnut.com/l/_4tV1egx7mNcA
https://dl.doubtnut.com/l/_D0b8YFMrqhyO


155. Under which type of activity will you classify 'Dividend Received by a

Finance Company' while preparing Cash Flow Statement?

View Text Solution

156. Does movement between items that constitute Cash or Cash

Equivalents result into Cash Flow? Give reasons in support of your

answer.

View Text Solution

157. Under which type of activity will you classify 'Proceeds from Sale of

Investment' while preparing Cash Flow Statement?

View Text Solution

https://dl.doubtnut.com/l/_dovuknqz6dHv
https://dl.doubtnut.com/l/_JKbeYBpX8FQ0
https://dl.doubtnut.com/l/_IoFUJXYbQdJ6


158. State with reason, whether 'Old furniture written off' would result

into inflow/outflow or no flow of cash.

View Text Solution

159. Deepu Ltd. A non financing company received dividend on shares.

How will it be presented while preparing 'Cash Flow Statement'?

View Text Solution

160. Why is depreciation added back to net profit while preparing 'Cash

Flow Statement'?

View Text Solution

161. Under which type of activity will you classify 'Refund of Tax Received'

while preparing Cash Flow Statement?

https://dl.doubtnut.com/l/_cLNCfDqcDyx1
https://dl.doubtnut.com/l/_ZY42phlS91hQ
https://dl.doubtnut.com/l/_HP1HeyCyfBQs
https://dl.doubtnut.com/l/_WUu1HDcDDaTj


View Text Solution

162. Under which type of activity will you classify 'Proceeds from Sale of

Patents' while preparing Cash Flow Statement?

View Text Solution

163. Under which type of activity 'Interest paid on long-term borrowings'

while preparing Cash Flow Statement?

View Text Solution

164. Interest received on debentures would result in inflow, outflow or no

flow of cash. Give your answer with reason.

View Text Solution

https://dl.doubtnut.com/l/_WUu1HDcDDaTj
https://dl.doubtnut.com/l/_kyQyMCuaJAVv
https://dl.doubtnut.com/l/_viTj4b4AOVWb
https://dl.doubtnut.com/l/_a8jhdhGQUVLy


165. An enterprise may hold securities and loans for dealing or trading

purposes in which case they are similar to inventory acquired specifically

for resale.' Is the statement correct? Cash flows from such activities will

be classified under which type of activity while preparing Cash Flow

Statement?

View Text Solution

166. Hider Ltd., a mutual fund company invested Rs. 5,00,000 in shares of

Prayag Ltd. It received dividend of Rs. 45,000 during the year. How will it

be depicted in the Cash Flow Statement?

View Text Solution

167. Nazma Ltd. Received interest on an item and the accountant

classified it under Financing Activity while preparing Cash Flow

Statement. Name another item for which such a treatment is possible. 

https://dl.doubtnut.com/l/_kNmpooeykesI
https://dl.doubtnut.com/l/_VkdTeWNwE2g3
https://dl.doubtnut.com/l/_IErFm3qsc613


Note by Authors: There seems to be printing error. Please read 'Investing

Activity' in place of 'Financing Activity'.

View Text Solution

168. List any two financing activities that will result into outflow of cash. 

Or 

Name any two financing activities that will result into outflow of cash.

View Text Solution

169. Name any two Financing Activities that will result into inflow of cash.

View Text Solution

170. While preparing Cash Flow Statement, what type of activity is

'Payment of cash to acquire shares of another company by a trading

company?

https://dl.doubtnut.com/l/_IErFm3qsc613
https://dl.doubtnut.com/l/_slWi6c3yYQoV
https://dl.doubtnut.com/l/_NPBg1OytGTIQ
https://dl.doubtnut.com/l/_42QTviapoK3C


View Text Solution

171. Classify the following activities as (i) Operating, (ii) Investing or (iii)

Financing in case of a 'Financial Enterprise'. 

(a) Proceeds from Sale of Investments 

(b) Interest received on Debentures held as Investment.

View Text Solution

172. G Ltd'. Is carrying on a paper manufacturing business. In the current

year, it purchased machinery for Rs. 30,00,000, it paid salaries of Rs.

60,000 to its employees, it required funds for expansion and therefore,

issued shares of Rs. 20,00,000. It earned a profit of Rs. 9,00,000 for the

current year. 

Find out Cash Flow from Operating Activities.

Watch Video Solution

https://dl.doubtnut.com/l/_42QTviapoK3C
https://dl.doubtnut.com/l/_5IJyO6t93hDo
https://dl.doubtnut.com/l/_ReBCkgsNWUxY


173. Shri Ltd'. Was carrying on a business of packaging in Delhi and

earned good profits in the past years. The company wanted to expand its

business and required additional funds. To meet its requirements the

company issued equity shares of Rs. 30,00,000. It purchased a

computerised machine for Rs. 20,00,000. It also purchased raw material

amounting to Rs. 2,00,000. During the current year, the Net Profit of the

company was Rs. 15,00,000. 

Find out 'Cash flow from Operating Activities' from the above

transactions.

Watch Video Solution

174. Interest received and paid' is considered as which type of activity by a

finance company while preparing a Cash Flow Statement?

View Text Solution

https://dl.doubtnut.com/l/_zu884y75vRYh
https://dl.doubtnut.com/l/_VdbDxDxfAyGA


175. Cash deposit with the bank with a maturity date after two months

belongs to which of the following while preparing Cash Flow Statement? 

(a) Investing Activities (b) Financing Activities 

(c ) Cash and Cash Equivalents (d) Operating Activities

View Text Solution

176. Finserve Ltd., is carrying on a Mutual Fund business. In invested Rs.

30,00,000 in shares and Rs. 15,00,000 in debentures of various companies

during the year. It received Rs. 3,00,000 as dividend and interest. Find out

Cash Flow from Investing Activities.

View Text Solution

177. While preparing Cash Flow Statement, the accountant of 'Rachana

Ltd'. A financing company, included 'Interest received on loan' in Financing

Activities.Was he correct in doing so? Give reason.

View Text Solution

https://dl.doubtnut.com/l/_xhNbxhmMS1up
https://dl.doubtnut.com/l/_rErzhqne90Mz
https://dl.doubtnut.com/l/_oBGzaRgsF0C0


View Text Solution

178. While preparing Cash Flow Statement, the accountant of a financing

company showed 'Dividend Received Rs. 50,000 on investments' as an

Investing Activity'. Was he correct in doing so? Give reason.

View Text Solution

179. The accountant of 'Nav Jeevan Ltd'. While preparing Cash Flow

Statement added the dividend paid in the current year to net profit while

calculating Cash Flow front Operating Activities. Was he correct in doing

so? Give reason.

View Text Solution

180. While preparing the Cash Flow Statement of Alka Ltd. 'dividend paid'

was shown as an Operating Activity by the accountant of the company.

Was he correct in doing so? Give reason.

https://dl.doubtnut.com/l/_oBGzaRgsF0C0
https://dl.doubtnut.com/l/_TQ6698S413Yl
https://dl.doubtnut.com/l/_X7cigfuCFXiM
https://dl.doubtnut.com/l/_DEQrPO7Qjw8W


View Text Solution

181. While preparing the Cash Flow Statement of Sharda Ltd. 'Depreciation

provided on fixed assets' was added to net profit to calculate Cash Flow

from Operating Activities. Was the accountant correct in doing so? Give

reason. 

Or 

The accountant of Manav Ltd. while preparing Cash Flow Statement

added depreciation provided on fixed assets to net profit for calculating

Cash Flow from Operating Activities. Was the accountant correct in doing

so? Give reason.

View Text Solution

182. Short-term investments are not considered while preparing Cash

Flow Statement. Why?

View Text Solution

https://dl.doubtnut.com/l/_DEQrPO7Qjw8W
https://dl.doubtnut.com/l/_mDNgOTlCw8Pp
https://dl.doubtnut.com/l/_I2o9fxVAYBtH
https://dl.doubtnut.com/l/_6xcWcjlQ52nT


Short Answer Questions

183. Net increase in Working Capital other than Cash and Cash

Equivalents will increase, decrease or not change Cash Flow from

Operating Activities. Give reason in support of your answer.

View Text Solution

184. Loans and advances granted' by a company will be considered, as

which type of activity while preparing Cash Flow Statement.

View Text Solution

1. Name the major headings under which the Equity and Liabilities part of

a company's Balance Sheet is organised and presented.

View Text Solution

https://dl.doubtnut.com/l/_6xcWcjlQ52nT
https://dl.doubtnut.com/l/_fPekT3xeBT3t
https://dl.doubtnut.com/l/_wYgP3F0TvaYU
https://dl.doubtnut.com/l/_tGETqvjusI6c


2. Name the sub-headings under which Shareholders'. Funds is shown in a

company's Balance Sheet.

View Text Solution

3. Name the sub-headings under which Non-current Assets is shown in a

company's Balance Sheet.

View Text Solution

4. Name any two items that are shown under the head 'Other Current

Liabilities' and any two items that shown under the head 'Other Current

Assets' in the Balance Sheet of a company as per Schedule III of the

Companies Act, 2013.

View Text Solution

https://dl.doubtnut.com/l/_tGETqvjusI6c
https://dl.doubtnut.com/l/_OEsasTADk5Pg
https://dl.doubtnut.com/l/_dby4VCdDi6TA


5. List any three items that can be shown under the heading 'Reserves

and Surplus' in a company's Balance Sheet. 

Or 

List any four items of 'reserves' that are shown under the heading

'Reserves and 'Surplus' in the Balance Sheet of a company as per Schedule

III of the Companies Act, 2013.

View Text Solution

6. List the sub-headings which are shown under the heading 'Current

Assets' in the Balance Sheet of a company as per Schedule III, Part I of the

Companies Act, 2013.

View Text Solution

7. Under which major headings and sub-headings will the followings items

be shown in the Balance Sheet of a company as per Schedule III of

Companies Act, 2013? 

https://dl.doubtnut.com/l/_RbbG26J4zAaR
https://dl.doubtnut.com/l/_5rJ81sQV7TzN
https://dl.doubtnut.com/l/_UpoaPfMbe9a0


(i) Provision for Employee Benefits. 

(ii) Calls-in-Advances.

Watch Video Solution

8. Classify the following items under Major Head and Sub-head (if any) in

the Balance Sheet of a company as per Schedule III of the Companies Act,

2013: 

(i) Capital Work-in-Progress, (ii) Provision for Warranties, 

(iii) Income Received in Advance, and (iv) Capital Advance.

Watch Video Solution

9. State under which major headings the following items will be

presented in the Balance Sheet of a company as per revised Schedule VI,

Part I of the Companies Act, 1956 (Now Schedule III, Part I of the

Companies Act, 2013): 

(i) Long-term Borrowings (ii) Trade Payables 

https://dl.doubtnut.com/l/_UpoaPfMbe9a0
https://dl.doubtnut.com/l/_G7cst3G5QVjW
https://dl.doubtnut.com/l/_cz8rAGBAQrif


(iii) Provision for Tax (iv) Securities Premium Reserve 

(v) Patents (vi) Accrued Incomes.

View Text Solution

10. List any four items other than 'Stock-in-Trade' that are presented

under the sub-head inventories' as per Schedule III of the Companies Act,

2013.

View Text Solution

11. When is an asset shown as 'Current Asset' and when as 'Non-current

Asset'?

View Text Solution

12. When is a liability shown as 'Current Liability' and when as 'Non-

current Liability'?

https://dl.doubtnut.com/l/_cz8rAGBAQrif
https://dl.doubtnut.com/l/_kuCSPWxg1ii1
https://dl.doubtnut.com/l/_4oJkCRbtoS3P
https://dl.doubtnut.com/l/_SeZNxjaZkaXQ


View Text Solution

13. Under which sub-headings will the following items be shown in the

Balance Sheet of a company as per revised Schedule VI, Part I of the

Companies Act, 1956 (Now Schedule III, Part I of the Companies Act, 2013)?

(i) Long-term Loans (ii) Capital Redemption Reserve 

(iii) Short-term Provisions (iv) Goodwill 

(v) Provision for Warranties (vi) Brand/Trademarks

View Text Solution

14. Enumerate any three items of 'Current Assets' and three items of

'Current Liabilities' included in each of these major headings as per

Revised Schedule VI (Now Schedule III) of the Companies Act, 1956 (Now

2013).

View Text Solution

https://dl.doubtnut.com/l/_SeZNxjaZkaXQ
https://dl.doubtnut.com/l/_8gYhUkbpflmg
https://dl.doubtnut.com/l/_DyrGtW4lFA1m


15. JW Ltd. Was a company manufacturing geysers. As a part of its long-

term goal for expansion, the company decided to identify the opportunity

in rural areas. Initial plan was rolled out for Bhiwani village in Haryana.

Since the village did not have regular supply of electricity, the company

decided to manufacture solar geysers. The core team consisting of the

Regional Manager, Accountant and the Marketing Manager was taken

from the Head Office and the remaining employees were selected from

the village and neighbourhood areas. 

At the time of preparation of financial statements, the accountant of the

company fell stick and the company deputed a junior accountant

temporarily from the village for two months. 

The Balance Sheet prepared by the junior accountant showed the

following items against the Major Heads and Sub-heads mentioned which

were not as per Schedule III of the Companies Act, 2013: 

 

Identify any two values that the company wants to communicate to the

https://dl.doubtnut.com/l/_BgEzJ7V1Stbo


society. Also present the above items under the correct major heads and

sub-heads as per Schedule III of the Companies Act, 2013.

Watch Video Solution

16. State any two objectives of 'Analysis' of Financial Statements'. 

Or 

State any two objectives of Financial Statement Analysis. 

Or 

State the objectives of 'Analysis of Financial Statement'. 

Or 

What is meant by 'Analysis of Financial Statement'? State any two

objectives of such an analysis.

View Text Solution

17. State any two limitations of 'Analysis of Financial Statement'. 

Or 

State any four limitations of 'Analysis of Financial Statement'.

https://dl.doubtnut.com/l/_BgEzJ7V1Stbo
https://dl.doubtnut.com/l/_djP6qSVHKU6u
https://dl.doubtnut.com/l/_6xiWp88Bd2pD


View Text Solution

18. State any three advantages and three limitations of Analysis of

Financial Statements.

View Text Solution

19. What is meant by Analysis of Financial Statements? How is it

important from the viewpoint of creditors and management?

View Text Solution

20. What is meant by Analysis of Financial Statement? What is its

importance to shareholders and employees?

View Text Solution

https://dl.doubtnut.com/l/_6xiWp88Bd2pD
https://dl.doubtnut.com/l/_qxeiSXTqRy3k
https://dl.doubtnut.com/l/_AkLCt8jyqImH
https://dl.doubtnut.com/l/_ulvF1nKw4fnG


21. How is the Analysis of Financial Statements useful to potential

investors and tax authorities? Explain in brief.

View Text Solution

22. Quick Ratio of a company is 1 : 1. State giving reasons (for any four),

which of the following would improve, reduce or not change the ratio? 

(i) Purchase of machinery for cash (ii) Purchase of goods on credit 

(iii) Sale of furniture at cost (iv) Sale of goods at a profit 

(v) Redemption of debentures at a premium

View Text Solution

23. State with reasons, whether the Operating Ratio of a company will

increase, decrease or not change due to the following transactions: 

(a) Paid Wages Rs. 1,000, (b) Issued Rs. 1,00,000, 12% Debentures, (c ) Sold

Goods on Credit Rs. 15,000, (d) Paid Rs. 5,000 Commission on Sales and (e)

Paid Rs. 4,000 for Advertisement.

https://dl.doubtnut.com/l/_mp2Hu8Zz6uvt
https://dl.doubtnut.com/l/_mrPj323X3ELP
https://dl.doubtnut.com/l/_SGEBLweq52qb


Part B Practical Problems

View Text Solution

24. A Mutual Fund Company receives a dividend of Rs. 25 lakhs on its

investments in another company's shares. Why is it a cash inflow from

operating activities for this company?

View Text Solution

25. State any two objectives of preparing 'Cash Flow Statement'.

View Text Solution

1. Under which heads and sub-heads following items will appear in the

Balance Sheet of a company as per Schedule III of the Companies Act,

2013? 

https://dl.doubtnut.com/l/_SGEBLweq52qb
https://dl.doubtnut.com/l/_daVoDJXoxxzi
https://dl.doubtnut.com/l/_LrV36WfVfJAp
https://dl.doubtnut.com/l/_ORUuh2SjJ3Jt


(i) Premium on Redemption of Debentures 

(ii) Loose Tools 

(iii) Balances with Banks

Watch Video Solution

2. Under which heads and sub-heads following items will appear in the

Balance Sheet of a company as per Schedule III of the Companies Act,

2013? 

(i) Tax Reserve 

(ii) Interest on Calls-in-Advance 

(iii) Stores and Spares

Watch Video Solution

3. Under which heads and sub-heads following items will appear in the

Balance Sheet of a company as per Schedule III, Part I of the Companies

Act, 2013? 

https://dl.doubtnut.com/l/_ORUuh2SjJ3Jt
https://dl.doubtnut.com/l/_XfRcGfAKGP8W
https://dl.doubtnut.com/l/_hgU8Jt1RHX1A


(ii) Encashment of Employees Earned Leave payable on retirement 

(iii) Vehicles

Watch Video Solution

4. Under which heads and sub-heads following items will appear in the

Balance Sheet of a company as per Schedule III, Part I of the Companies

Act, 2013? 

(i) Subsidy Reserve 

(ii) Mining Rights 

(iii) Provision for Doubtful Debts

Watch Video Solution

5. Under which heads and sub-heads following items will appear in the

Balance Sheet of a company as per Schedule III, Part I of the Companies

Act, 2013? 

(i) Debentures (ii) Loose Tools 

https://dl.doubtnut.com/l/_hgU8Jt1RHX1A
https://dl.doubtnut.com/l/_cqWClzRz4BgQ
https://dl.doubtnut.com/l/_nBnlWeT1Mtbz


(iii) Calls-in-Advance (iv) Stores and Spares 

(v) Proposed Dividend (vi) Computer Software

Watch Video Solution

6. Financial statements are prepared following the consistent accounting

concepts, principles, procedures and also the legal environment in which

the business organisations operate. These statements are the sources of

information on the basis of which conclusions are drawn about the

profitability and financial position of a company so that their users can

easily understand and use them in their economic decisions in a

meaningful way. 

From the above statement, identify any two values that a company

should observe while preparing its financial statement. Also, state under

which major headings and sub-headings the following items will be

presented in the Balance Sheet of a company as per Schedule III of the

Companies Act, 2013: 

(i) Capital Reserve, (ii) Calls-in-Advance, 

(iii) Loose Tools, and (iv) Bank Overdraft.

https://dl.doubtnut.com/l/_nBnlWeT1Mtbz
https://dl.doubtnut.com/l/_SXTejvKIxv84


Watch Video Solution

7. Under which major heads the following items will be placed in the

Balance Sheet of a company as per Schedule III, Part I of the Companies

Act, 2013? 

(i) Securities Premium Reserve (ii) Balances with banks 

(iii) Term loans from bank (iv) Goods-in-transit 

(v) Loans repayable on demand (vi) Computer software 

(vii) Unpaid Dividends and (viii) Vehicles

Watch Video Solution

8. Under which heads the following items will be placed in the Balance

Sheet of a company as per Schedule III, Part I of the Companies Act, 2013? 

(i) Cash in Hand (ii) Mining Rights 

(iii) Short-term deposist (iv) Debentures Redemption Reserve 

(v) Income received in advance (vi) Balance of the Statement of Profit and

https://dl.doubtnut.com/l/_SXTejvKIxv84
https://dl.doubtnut.com/l/_YlqSMeQruvws
https://dl.doubtnut.com/l/_BjkRyaP34cQV


Loss 

(vii) Office Equipments and (viii) Work-in-Progress

Watch Video Solution

9. Under which major headings and sub-headings the following items will

be shown in the Balance Sheet of a company as per Schedule III of the

Companies Act, 2013? 

(i) Bank Overdraft (ii) Cheques in Hand 

(iii) Loose Tools (iv) Long-term Provisions

Watch Video Solution

10. Under which major headings and sub-headings the following items

will be shown in the Balance Sheet of a company as per Schedule III of the

Companies Act, 2013? 

(i) Long-term Loans (ii) Loose Tools 

(iii) Trademarks (iv) Drafts in Hand 

https://dl.doubtnut.com/l/_BjkRyaP34cQV
https://dl.doubtnut.com/l/_eH9aAeW3qWE4
https://dl.doubtnut.com/l/_VeRBvMi3fUPl


Comparative Balance Sheet

(v) Bank Overdraft (vi) Stores and Spares 

(vii) Bonds (viii) Capital Reserve

Watch Video Solution

11. Name the major heads under which the following items will be shown

in the Balance Sheet of a company as per Schedule III of the Companies

Act, 2013: 

(i) Work-in-Progress (ii) Calls-in-Advance 

(iii) Mining Rights (iv) Trade Receivables 

(v) Provision for Tax (vi) Goodwill 

(vii) Loose Tools (viii) Accured Income

Watch Video Solution

https://dl.doubtnut.com/l/_VeRBvMi3fUPl
https://dl.doubtnut.com/l/_6t1fbCoOQLD6


1. Balance Sheet of Blue Bell Ltd. As at 31st March, 2018 is given below: 

 

Prepare Comparative Balance Sheet showing percentage changes from

2017 to 2018.

View Text Solution

2. From the following information, prepare a Comparative Statement of

Profit and Loss of Y Ltd. For the year ended 31st March, 2015: 

View Text Solution

https://dl.doubtnut.com/l/_xNzE63bypnvx
https://dl.doubtnut.com/l/_8t1MkKEeyohu


3. Prepare a Comparative Statement of Profit and Loss for the year ended

31st March, 2015 from the following information: 

View Text Solution

4. Following is the Statement of Profit and Loss of Moon India Ltd. For the

year ended 31st March, 2015: 

 

The motto of Moon India Ltd. Is to produce and distribute green energy

in the backward areas of India. It has also taken up a project of giving

vocational training to the girls belonging to the backward areas of

Rajasthan. You are required to prepare a Comparative Statement of Profit

https://dl.doubtnut.com/l/_8t1MkKEeyohu
https://dl.doubtnut.com/l/_ZXY2hVOBbqOa
https://dl.doubtnut.com/l/_gZGHuvjeAtKT


and Loss of Moon India Ltd. from the given Statement of Profit and Loss

and also identify any two values that the company wishes to convey to

the society.

View Text Solution

5. Prepare Comparative Statement of Profit and Loss from the following

information. 

View Text Solution

6. From the following information provided, prepare Comparative

Statement of Profit and Loss for the period 2016 and 2015: 

https://dl.doubtnut.com/l/_gZGHuvjeAtKT
https://dl.doubtnut.com/l/_ch2i3YLC5k2j
https://dl.doubtnut.com/l/_L3npe7tjsu8b


View Text Solution

7. Prepare Comparative Statement of Profit and Loss from the following

information. 

View Text Solution

8. Prepare Comparative Statement of Profit and Loss from the following

information: 

https://dl.doubtnut.com/l/_L3npe7tjsu8b
https://dl.doubtnut.com/l/_r2WHzi0kSxao
https://dl.doubtnut.com/l/_z7bhFPOIH6CW


View Text Solution

9. Prepare 'Comparative Statement of profit and Loss' from the following

information: 

View Text Solution

10. Prepare 'Comparative Statement of Profit and Loss' from the following

information: 

https://dl.doubtnut.com/l/_z7bhFPOIH6CW
https://dl.doubtnut.com/l/_ChKYrRlMx7d2
https://dl.doubtnut.com/l/_9N0YmXQww35w


View Text Solution

11. From the following Statement of Profit and Loss of Moontrack Ltd. For

the years ended 31st March, 2012 and 2011, prepare 'Comparative

Statement of Profit and Loss': 

View Text Solution

12. From the following Statement of Profit and Loss of Suntrack Ltd. For

the years ended 31st March, 2012 and 2011, prepare 'Comparative

Statement of Profit and Loss': 

https://dl.doubtnut.com/l/_9N0YmXQww35w
https://dl.doubtnut.com/l/_kKrNP9JQjzGZ
https://dl.doubtnut.com/l/_ntB3mOxO3Ljg


View Text Solution

13. From the following 'Statement of Profit and Loss' for the year ended

31st March, 2013, prepare 'Comparative Statement of Profit and Loss of

Good Services Ltd.: 

 

Rate of Income Tax was 50%.

View Text Solution

14. Following information was extracted from the Statement of Profit and

Loss for the years ended 31st March, 2012 and 2013. Prepare Comparative

Statement of Profit and Loss: 

View Text Solution

https://dl.doubtnut.com/l/_ntB3mOxO3Ljg
https://dl.doubtnut.com/l/_td1c3IgANpTd
https://dl.doubtnut.com/l/_dE0bPXVMpfEp


15. From the following information, prepare a Comparative Statement of

Profit and Loss: 

View Text Solution

16. From the following Statement of Profit and Loss, prepare Common-size

Statement of Profit and Loss of Jayant Ltd. For the year ended 31st March,

2016: 

View Text Solution

https://dl.doubtnut.com/l/_dE0bPXVMpfEp
https://dl.doubtnut.com/l/_DUjQ3bUsxe23
https://dl.doubtnut.com/l/_xh8uOkpy43Yp
https://dl.doubtnut.com/l/_EhB6wxYibAob


17. From the following Statement of Profit and Loss of Sun Ltd., for the

years ended 31st March, 2015 and 2016, prepare a Common-size

Statement: 

View Text Solution

18. Prepare a Common-size Balance Sheet of KJ Ltd. From the following

information: 

View Text Solution

https://dl.doubtnut.com/l/_EhB6wxYibAob
https://dl.doubtnut.com/l/_f0fICxgXZpBT


Accounting Ratios

1. From the following information, calculate any two of the following

ratios: 

(a) Debt to Equity Ratio, 

(b) working Capital Turnover Ratio, 

(c ) Return on Investment. 

Information: 

Equity Share Capital Rs. 50,000, General Reserve Rs. 5,000, Statement of

Profit and Loss (Pofit after Interest and Tax) Rs. 15,000, 9% Debentures Rs.

20,000, Creditors Rs. 15,000, Land and Building Rs. 65,000, Equipments Rs.

15,000, Debtors Rs. 14,500 and Cash Rs. 5,500. Sales for the year ended

31st March, 2011 was Rs. 1,50,000. Tax rate 50%.

View Text Solution

https://dl.doubtnut.com/l/_f0fICxgXZpBT
https://dl.doubtnut.com/l/_H3ZmN4KvTxNH


2. O.M. Ltd. Has a Current Ratio of 3.5 : 1 and Quick Ratio of 2 : 1. If the

excess of Current Assets over Quick Assets as represented by Stock is Rs.

1,50,000, calculate Current Assets and Current Liabilities.

View Text Solution

3. From the following information, calculate any two of the following

ratios: 

(a) Debt to Equity Ratio, 

(b) working Capital Turnover Ratio, 

(c ) Return on Investment. 

Information: 

Equity Share Capital Rs. 50,000, General Reserve Rs. 1,00,000, Statement

of Profit and Loss (Profit after Tax and Interest) Rs. 3,00,000, 12%

Debentures Rs. 4,00,000, Creditors Rs. 3,00,000, Land and Building Rs.

14,00,000, Furniture Rs. 3,00,000, Debtors Rs. 2,90,000, Cash Rs. 1,10,000. 

Revenue from Operation (Net Sales) for the year ended 31st March, 2011

was Rs. 30,00,000 and Tax paid 50%.

https://dl.doubtnut.com/l/_QLHEfayVxjbl
https://dl.doubtnut.com/l/_VmVl30wphnB2


View Text Solution

4. X Ltd. Has a Current Ratio of 3 : 1 and Quick Ratio of 2 : 1. If the excess

of current assets over quick assets as represented by stock is Rs. 40,000,

calculate current assets and current liabilities.

View Text Solution

5. Z Ltd. Has a Current Ratio of 3.5 : 1 and Quick Ratio of 1.5 : 1. If the

excess of current assets over quick assets as represented by stock is Rs.

60,000, calculate current assets and current liabilities.

View Text Solution

6. From the following information, calculate any two of the following

ratios: 

(a) Debt to Equity Ratio, 

(b) working Capital Turnover Ratio, 

https://dl.doubtnut.com/l/_VmVl30wphnB2
https://dl.doubtnut.com/l/_XWUpoJ0Nmco9
https://dl.doubtnut.com/l/_MrnN6Awhs96A
https://dl.doubtnut.com/l/_A08NycMrjif9


(c ) Return on Investment. 

Information: 

Equity Share Capital Rs. 5,50,000, General Reserve Rs. 50,000, Statement

of Profit and Loss (Profit after Tax and Interest) Rs. 1,00,000, 9%

Debentures Rs. 2,00,000, current Rs. 1,00,000, Land and Building Rs.

6,50,000, Equipments Rs. 1,50,000, Debtors Rs. 1,45,000, Cash Rs. 55,000. 

Revenue from Operation (Net Sales) for the year ended 31st March, 2011

was Rs. 15,00,000 and Tax Paid 50%.

View Text Solution

7. Calculate 'Return on Investment' and 'Debt to Equity Ratio' from the

following information: Net Profit after 

Interest and Tax Rs. 3,00,000 

10% Debentures Rs. 5,00,000 

Tax Rate  

Capital Employed Rs. 40,00,000

View Text Solution

40 %

https://dl.doubtnut.com/l/_A08NycMrjif9
https://dl.doubtnut.com/l/_oCFCwxw8ydaN


8. Calculate 'Return on Investment' and 'Debt to Equity Ratio' from the

following information: 

Net Profit after Interest and Tax Rs. 6,00,000 

10% Debentures Rs. 10,00,000 

Tax Rate 40% 

Capital Employed Rs. 80,00,000

View Text Solution

9. From the following information obtained from the books of Kundan

Ltd., calculate the Inventory Turnover Ratio for the years 2015-16 and 2016-

17: 

 

In the year 2015-16, inventory increased by Rs. 2,00,000.

View Text Solution

https://dl.doubtnut.com/l/_Kj8WVY5pNj5f
https://dl.doubtnut.com/l/_A79jGRMAro52
https://dl.doubtnut.com/l/_VERimgY6cesH


10. Calculate Current Ratio of a company from the following information: 

Inventory (Stock) Turnover Ratio: 4 Times 

Inventory (Stock) in the beginning was Rs. 20,000 less than Inventory, at

the end. 

Revenue from Operations (Net Sales) Rs. 6,00,000 Gross Profit Ratio 25% 

Current Liabilities Rs. 60,000 Quick Ratio 0.75 : 1

View Text Solution

11. A company had a Liquid Ratio of 1.5 and Current Ratio of 2 and

Inventory Turnover Ratio 6 Times. It had total Current Assets of Rs.

8,00,000 in the year 2003. Find out Revenue from Operation (Net Sales) if

goods are sold at 25% profit on cost.

View Text Solution

12. Ratio of current assets (Rs 300000) to current liabilities (Rs 200000) is

1.5:1 .The accountant of the firm is interested inn maintaining a current

https://dl.doubtnut.com/l/_VERimgY6cesH
https://dl.doubtnut.com/l/_nUL4oYocC3Ls
https://dl.doubtnut.com/l/_3B1LQZ3f9Zsy


ratio of 2:1 by paying of a part of the curent liabilites compute amount of

the current liabilities that should be paid so that the current ratio at the

level of 2:1 may be maintained

Watch Video Solution

13. From the given information, calculate the following: 

(i) Cost of Revenue from Operations 

(ii) Opening and Closing Inventory 

(iii) Quick Assets 

(iv) Current Assets 

information: 

Inventory Turnover Ratio 6 times, Inventory at the end is Rs. 6,000 more

than the inventory in the beginning, Revenue from Operations (all

credits) Rs. 2,40,000, Gross profit 25% on cost, Current Liabilities Rs.

80,000, Quick Ratio 0.80 : 1.

View Text Solution

https://dl.doubtnut.com/l/_3B1LQZ3f9Zsy
https://dl.doubtnut.com/l/_4BAUMLRjTltZ
https://dl.doubtnut.com/l/_sPAAXW7Uq4SL


14. From the following information calculate Inventory Turnover Ratio:

Revenue from Operation Rs. 16,00,000, Average Inventory Rs. 2,20,000,

Gross Loss Ratio 5%.

View Text Solution

15. From the following details, calculate Opening Inventory: 

Closing Inventory Rs. 60,000, Total Revenue from Operations Rs. 5,00,000

(including cash revenue from operations Rs. 1,00,000), Total purchases Rs.

3,00,000 (including credit purchases Rs. 60,000). Goods are sold at a

profit of 25% on cost.

View Text Solution

16. (a) From the following, calculate 'Trade Receivables Turnover Ratio': 

Total Revenue from Operations for the year - Rs. 8,40,000 

Cash Revenue from Operations - 40% of Credit Revenue from Operations 

Closing Trade Receivables - Rs. 2,00,000 

Excess of Closing Trade Receivables over Opening Trade Receivables - Rs.

https://dl.doubtnut.com/l/_sPAAXW7Uq4SL
https://dl.doubtnut.com/l/_1jR3fLLWVRak
https://dl.doubtnut.com/l/_K14WSFjXGntL


80,000. 

From the following information, calculate 'Interest Coverage Ratio': 

Profit after Interest and Tax - Rs. 4,97,000 

Rate of Income Tax - 30% 

12% Debentures - Rs. 6,00,000.

View Text Solution

17. From the following calculate the 'Gross Profit Ratio' and 'Working

Capital Turnover Ratio': 

View Text Solution

Rs

Revenue from Operations 30,00,000

Current Assets 6,00,000

Paid-up Share Capital 5,00,000

: ∣ cost of Revenue from Operations

Current Liabilities

18. From the following, calculate: 

(a) Operating Profit Ratio, and (b) Working Capital Turnover Ratio. 

https://dl.doubtnut.com/l/_K14WSFjXGntL
https://dl.doubtnut.com/l/_cb6FfTxxKDkD
https://dl.doubtnut.com/l/_h7dybs8742fa


View Text Solution

Rs

Revenue from Operations 2,00,000

Office Expenses 15,000

Interest on Debentures 5,000

Income from Rent 2,500

Current Assets 60,000

: ∣

Rs

Gross Profit 75,000

Selling Expenses 26,000

Accidental Losses 12,000

Commission Received 2,000

Current Liabilities 10,000

19. From the following, calculate: 

(a) Current Ratio, and 

(b) working Capital Turnover Ratio. 

View Text Solution

Rs

Revenue  from Operations 1,50,000

Shareholders' Funds 60,000

Non-current Assets 50,000

: ∣

Rs

Total Assets 1,00,000

Non-current Liabilities 20,000

20. From the following information, compute 'Debt to Equity Ratio': 

View Text Solution

Long-term Borrowings Rs. 2,00,000

Long-term Provisions Rs. 1,00,000

Current Liabilities Rs. 50,000

: ∣
Non-current Assets Rs. 3,60,00

Current Assets Rs. 90,000

https://dl.doubtnut.com/l/_h7dybs8742fa
https://dl.doubtnut.com/l/_xTjRQq48ALr1
https://dl.doubtnut.com/l/_4X9cQJNy0lDp


21. From the following information, Compute Debt to Equity Ratio: 

Long-term Borrowings Rs. 4,00,000 

Long-term Provisions Rs. 2,00,000 

Current Liabilities Rs. 1,00,000 

Non-current Assets Rs. 7,20,000 

Current Assets Rs. 1,80,000

View Text Solution

22. From the following information, compute 'Proprietary Ratio': 

Long-term Borrowings Rs. 2,00,000 

Long-term Provisions Rs. 1,00,000 

Current Liabilities Rs. 50,000 

Non-current Assets Rs. 3,60,000 

Current Assets Rs. 90,000

View Text Solution

https://dl.doubtnut.com/l/_4X9cQJNy0lDp
https://dl.doubtnut.com/l/_tctEr20Si6ob
https://dl.doubtnut.com/l/_plS3UnK53eNh


23. (a) The Debt to Equity Ratio of a company is 1 : 2. State with reason

which of the following transactions would (i) increase, (ii) decrease or (iii)

not change the ratio: 

1. Issued equity shares of Rs. 1,00,000. 2. Obtained a short-term loan from

bank Rs. 1,00,000. 

(b). From the following information compute 'Total Assets to Debt Ratio': 

Long-term Borrowings Rs. 3,00,000 

Long-term Provisions Rs. 1,50,000 

Current Liabilities Rs. 75,000 

Non-current Assets Rs. 5,40,000 

Current Assets Rs. 1,35,000

View Text Solution

24. Opening Inventory (Stock): Rs 60,000, Closing Inventory (Stock): Rs.

1,00,000, Inventory (Stock) Turnover Ratio: 8 Times, Selling Price: 25%

above cost. Claculate Gross Profit Ratio.

View Text Solution

https://dl.doubtnut.com/l/_YlMBY0cIYGtg
https://dl.doubtnut.com/l/_SsIpyNjwWrAH


25. Net Profit after Interest but before Tax: Rs 1,40,000, 15% Long-term

Debts: Rs 4,00,000, Shareholders' Funds: Rs. 2,40,000, Tax rate: 50%.

Calculate Return on Capital Employed.

View Text Solution

26. Assuming that the Debt to Equity Ratio is 2. State giving reasons

whether this ratio would increase, decrease or remain unchanged in the

following cases (Any four): 

(i) Purchase of fixed asset on a credit of 2 months. 

Purchase of fixed asset on a long-term deferred payment basis. 

(iii) Issue of new shares for cash. 

(iv) Issue of Bonus shares. 

(v) Sale of fixed asset at a loss of Rs. 3,000.

View Text Solution

https://dl.doubtnut.com/l/_SsIpyNjwWrAH
https://dl.doubtnut.com/l/_ED2WHV9x6GVp
https://dl.doubtnut.com/l/_Q6Lhu7fC4Xlu


27. From the following information, calculate any two of the following

ratios: 

(i) Liquid Ratio, (ii) Gross Profit Ratio, (iii) Debt to Equity Ratio. 

information: 

Revenue from Operation, Rs. 4,00,000, Opening Inventory Rs. 10,000,

Closing Inventory Rs. 3,000 less than Opening Inventory, Net Purchases

80% of Revenue from Operations, Direct Expenses Rs. 20,000, Current

Assets Rs. 1,00,000, Prepaid Expenses Rs. 3,000, Current Liabilities Rs.

60,000, 9% Debentures Rs. 4,00,000, Long-term Loan from Bank Rs.

1,50,000, Equity Share Capital Rs. 8,00,000, 8% Preference Share Capital

Rs. 3,00,000.

View Text Solution

28. On the basis of the following information, calculate: 

(i) Debt to Equity Ratio and (ii) Working Capital Turnover Ratio. 

View Text Solution

https://dl.doubtnut.com/l/_XErLO9XQcGjN
https://dl.doubtnut.com/l/_H3gtzExbThw8


29. (a) Compute Trade Receivables (Debtors) Turnover Ratio from the

following information: Total Sales Rs. 5,20,000, Cash Sales 60% of the

Credit Sales, Closing Debtors Rs. 80,000, 

(b) Current Liabilities of a company are Rs. 1,60,000. Its Liquid Ratio is 1.5 :

1 and Current Ratio is 2.5 : 1. Calculate Quick Assets and Current Assets.

View Text Solution

30. (a) Compute 'Working Capital Turnover Ratio' from the following

information: Cash Sales Rs. 1,30,000, Credit Sales Rs. 3,80,000, Sales

Returns Rs. 10,000, Liquid Assets Rs. 1,40,000, Current Liabilities Rs.

1,05,000 and Inventory Rs. 90,000. 

(b) Calculate 'Debt to Equity Ratio' from the following information: 

Total Assets Rs. 3,50,000, Total Debt Rs. 2,50,000 and Current Liabilities

Rs. 80,000.

View Text Solution

https://dl.doubtnut.com/l/_H3gtzExbThw8
https://dl.doubtnut.com/l/_X4je3BizQmbb
https://dl.doubtnut.com/l/_0mMIln2h5Y1A


31. From the following information related to Naveen Ltd., calculate (a)

Return on Investment and (b) Total Assets to Debt Ratio. 

information: Fixed Assets Rs. 75,00,000, Current Assets Rs. 40,00,000,

Current Liabilities Rs. 27,00,000, 12% Debentures Rs. 80,00,000 and Net

Profit before Interest, Tax and Dividend Rs. 14,50,000.

View Text Solution

32. (a) A company earns Gross Profit of 25% on cost. For the year ended

31st March, 2017 its Gross Profit was Rs. 5,00,000, Equity Share Capital of

the company was Rs. 10,00,000, Reserves and Surplus Rs. 2,00,000, Long-

term Loan Rs. 3,00,000 and Non-current Assets were Rs. 10,00,000. 

Compute the 'Working Capital Turnover Ratio' of the company. 

(b) Y Ltd.'s profit after interest and tax was Rs. 1,00,000. Its Current Assets

were Rs. 4,00,000, Current Liabilities Rs. 2,00,000, Fixed Assets Rs.

6,00,000 and 10% Long-term Debt Rs. 4,00,000. The rate of tax was 20%. 

Calculate 'Return on Investment' of Y Ltd.

View Text Solution

https://dl.doubtnut.com/l/_9N9v2j8kB9Po
https://dl.doubtnut.com/l/_LW4ru6kMQdFi


33. With the help of the following information, calculate Return on

Investment: Net profit after interest and tax Rs. 8,00,000, 10% Debentures

Rs. 9,00,000, Tax , Capital Employed Rs. 2,00,000.

View Text Solution

∘ 50 %

34. From the following information, calculate Total Assets to Debt Ratio: 

View Text Solution

 Rs

Capital Employed 40,00,000

Investment 2,40,000

Plant 7,00,000

Trade Receivables 4,00,000

Cash and Cash Equivalents 3,60,000

: ∣

Equity Share Capital 

8% Debentures

Capital Reserve

Surplus, i.e., Balance in     

Statement of Profit and Loss

35. Vineet was the Managing Director of Lalit Plastics Ltd. For the last six

years the company had been consistently earning good profits. Vineet

followed democratic style of leadership. He believed in giving respect to

https://dl.doubtnut.com/l/_LW4ru6kMQdFi
https://dl.doubtnut.com/l/_wzoUhThzyen3
https://dl.doubtnut.com/l/_K2xgQnTYEzbu
https://dl.doubtnut.com/l/_R5XaqlGiHrtT


his subordinates by agreeing to their good suggestions. The company

also opened a school for girls in the locality and also contributed towards

the cleanliness of the locality. Following is the 'Comparative Statement of

Profit and Loss' of Lalit Plastics Ltd. for the year ended 31st March, 2014: 

 

(i) Calculate Net Profit Ratio for the years ending 31st March, 2013 and

2014. 

(ii) Identify any two values which are being communicated to the society

in the above case.

View Text Solution

36. Nishit was the Managing Director of 'Lalita Electronics Ltd'. He had

been earning good revenues and profits for the company. He believed in

giving respect to his subordinates as his moral responsibility. He was the

one who recognised the need to find ecofriendly ways to treat waste.

Following is the Comparative Statement of Profit and Loss of 'Lalita

Electronics Ltd'. for the years ended 31st March, 2013 and 2014: 

 

https://dl.doubtnut.com/l/_R5XaqlGiHrtT
https://dl.doubtnut.com/l/_CYL2E4S4fDTd


(a) Calculate Net Profit Ratio for the years ending 31st March, 2013 and

2014. 

(b) Identify any two values which are being communicated to the society

in the above case.

View Text Solution

37. (a) Net profit after interest and tax Rs. 1,00,000, Current assets Rs.

4,00,000, Current liabilities Rs. 2,00,000, Tax rate 20%, Fixed assets Rs.

6,00,000, 10% Long-term debt Rs 4,00,000. Calculate Return on

Investment. 

(b) Rate of Gross profit on cost of a company is 25%. Its Gross Profit is Rs.

5,00,000. Its Shareholders' Funds are Rs. 12,00,000, Current liabilities are

Rs. 3,00,000 and Current Assets are Rs. 10,00,000. 

Calculate its Working Capital Turnover Ratio.

View Text Solution

https://dl.doubtnut.com/l/_CYL2E4S4fDTd
https://dl.doubtnut.com/l/_nmnQv43mOk6y


Cash Flow Statement

38. (a) The net profit after interest and tax of a company was Rs. 1,20,000,

Rate of income tax is 40%. The company has 10% Debentures of Rs.

1,00,000. Calculate Interest Coverage Ratio. 

(b) From the following information related to a company, calculate

Interest Coverage Ratio: Opening inventory Rs. 20,00,000, Closing

inventory Rs. 22,000, Purchases Rs. 80,000, Wages Rs. 9,000, Carriage

outwards Rs. 2,000, Returns outward Rs. 1,000, Revenue from Operations

Rs. 80,000, Carriage inwards Rs. 4,000, Rent Rs. 5,000.

View Text Solution

1. Calculate 'Cash Flows from Operating Activities' from the following

information: 

 

Additional information: 

(i) Plant costing Rs. 60,000 having book value of Rs. 36,000 was sold for

https://dl.doubtnut.com/l/_Lsnw47bs3oDZ
https://dl.doubtnut.com/l/_ilTCxhvitxn2


Rs. 40,000 during the year. 

(ii) Income tax paid during the year was Rs. 30,000. 

(iii) Dividend paid during the year was Rs. 18,000.

View Text Solution

2. Following balances appeared in Machinery Account and Accumulated

Depreciation Account in the books of Jai Bharat Ltd.: 

 

Additional Information: Machinery costing Rs. 2,65,000 on which

accumulated depreciation was Rs. 1,00,000, sold for Rs. 75,000. You are

required to: 

(i) Compute amount of machinery purchasel, depreciation chareged for

the year and loss on sale of machinery. 

How shall each of the items related to machinery be shown in Cash Flow

Statement?

View Text Solution

https://dl.doubtnut.com/l/_ilTCxhvitxn2
https://dl.doubtnut.com/l/_WjqzB6stELlQ
https://dl.doubtnut.com/l/_qmDdX55C9YgV


3. Calculate Cash Flows from Investing Activities from the following

information: 

 

Additional Information: 

A machine costing Rs. 40,000 (depreciation provided thereon Rs. 12,000)

was sold for Rs. 35,000. Depreciation charged during the year was Rs.

60,000.

View Text Solution

4. Calculate Cash Flows from Investing Activities from the following

information: 

 

Additional Information: 

A machine costing Rs. 35,000 (Depreciation provided thereon Rs. 15,000)

was sold for Rs. 35,000. Depreciation charged during the year was Rs.

45,000.

View Text Solution

https://dl.doubtnut.com/l/_qmDdX55C9YgV
https://dl.doubtnut.com/l/_Q2GdeO5bQqHb


5. Calculate Cash Flows from Investing Activities from the following

information: 

 

Additional Information: 

(i) 9% dividend was received from Miko Ltd. 

(ii) A machine costing Rs. 50,000 (depreciation provided thereon Rs.

15,000) was sold for Rs. 40,000. Depreciation charged during the year was

Rs. 55,000.

View Text Solution

6. Calculate Cash Flows from Investing Activities from the following

information: 

 

Additional Information: 

(i) 10% dividend was received from Delko Ltd. 

(ii) A machine costing Rs. 70,000 (Depreciation provided thereon Rs.

https://dl.doubtnut.com/l/_pzDoOQN9vbwF
https://dl.doubtnut.com/l/_62ayUqxB0p1y


10,000) was sold for Rs. 60,000. Depreciation charged during the year was

Rs. 50,000.

View Text Solution

7. From the following extracts taken from the Balance Sheets of M/s.

Khanduja Ltd., on 31st March and the additional information provided,

you are required to calculate: (i) Cash Flow from Operating Activities. (ii)

Cash Flow from Financing Activities. 

 

Additional Information: 

Preference Shares were redeemed on 31st March, 2005 at a premium of

5%. Dividend on Equity Shares was paid . Fresh issue of Equity

Shares was done on 1st April. 2004.

View Text Solution

∘ 8 %

8. From the following information, calculate Cash Flow from Operating

Activities: 

https://dl.doubtnut.com/l/_62ayUqxB0p1y
https://dl.doubtnut.com/l/_NIGti0dbYJ4q
https://dl.doubtnut.com/l/_qgFKP8WfRtxj


 

(i) A piece of machinery costing Rs. 50,000 on which depreciation of Rs.

20,000 had been charged was sold for Rs. 10,000. Depreciation charged

during the year was Rs. 18,000. 

(ii) Income Tax Rs. 23,000 was paid during the year. 

(iii) Dividend paid during the year was Rs. 36,000.

View Text Solution

9. From the following Balance Sheets of Vijaya Ltd. As at 31st March, 2013,

prepare Cash Flow Statement: 

 

 

Additional Information: 

1. Depreciation on Fixed Assets for the year 2012-2013 was Rs. 14,700. 

2. An interim dividend Rs. 7,000 has been paid to the shareholders during

the year. 

View Text Solution

https://dl.doubtnut.com/l/_qgFKP8WfRtxj
https://dl.doubtnut.com/l/_MIkukioY2Cy7


10. From the following Balance Sheet of Vijaya Ltd. As at 31st March, 2013,

prepare Cash Flow Statement: 

 

Note to Accounts 

 

Additional Information: 

1. Depreciation charged on fixed assets for the year 2012-2013 was Rs.

20,000. 

2. Income Tax Rs. 5,000 has been paid in advance during the year.

View Text Solution

11. From the following Balance Sheet of L.M.R. Ltd. As at 31st March, 2018,

prepare Cash Flow Statement: 

 

Notes to Accounts 

 

Additional Information: 

https://dl.doubtnut.com/l/_lp8MrRvfwBaa
https://dl.doubtnut.com/l/_yWsCYRubAe8E


1. Proposed dividend for the year ended 31st March, 2017 was Rs. 35,000

and for the year ended 31st March, 2018, it was Rs. 70,000. 

2. During the year equipment costing Rs. 50,000 was purchased Loss on

Sale of Equipment amounted to Rs. 6,000. Rs. 9,000 depreciation was

charged on equipment.

View Text Solution

12. From the following Balance Sheet of JY Ltd. As at 31st March 2017,

prepare a Cash Flow Statement: 

 

Notes to Accounts 

 

Note: Proposed Dividend for the years ended 31st March, 2016 and 2017

are Rs. 50,000 and Rs. 75,000 respectively. Additional Information: Rs.

1,00,000, 10% Debentures were issued on 31st March, 2017. This question

is amended to comply with Accounting Standard 4 (Revised),

Contingencies and Events Occurring After the Balance Sheet Date.

View Text Solution

https://dl.doubtnut.com/l/_yWsCYRubAe8E
https://dl.doubtnut.com/l/_ZwtvGAR9WkJ7


13. From the following information, prepare Cash Flow Statement of Balaji

Ltd.: 

 

Note to Accounts 

 

Additional Information: (i) Debentures were issued on 1st April, 2012. (ii)

During the year machine included in Fixed Assets costing Rs. 1,20,000 was

purchased and another machine having Book Value of Rs. 30,000 was sold

at a loss of Rs. 2,000.

View Text Solution

14. Prepare Cash Flow Statement on the basis of the information given in

the Balance Sheets of Simco Ltd. As at 31st March, 2013 and 31st March,

2012: 

 

 

https://dl.doubtnut.com/l/_ZwtvGAR9WkJ7
https://dl.doubtnut.com/l/_xMTSscYJQGmu
https://dl.doubtnut.com/l/_CwFu4rUeKowV


Note to Accounts 

View Text Solution

15. Following are the Balance Sheets of Krishna Ltd. As on 31st March,

2014 and 2013: 

 

 

Prepare Cash Flow Statement after taking into account the following

adjustment: 

Tax paid during the year amounted to Rs. 70,000.

View Text Solution

16. Prepare Cash Flow Statement from the following Balance Sheet: 

 

Note to Accounts 

 

https://dl.doubtnut.com/l/_CwFu4rUeKowV
https://dl.doubtnut.com/l/_dKmx7UDmc593
https://dl.doubtnut.com/l/_roOWGhZX52EL


Additional Information: (i) An old machinery having book value of Rs.

42,000 was sold for Rs. 56,000. (ii) Depreciation provided on machinery

during the year was Rs. 28,000.

View Text Solution

17. Following is the Balance Sheet of Solar Power Ltd. As at 31st March,

2014: 

 

 

Additional Information: During the year, a piece of machinery costing Rs.

48,000 on which accumulated depreciation was Rs. 32,000, was sold for

Rs. 12,000. 

Prepare Cash Flow Statement.

View Text Solution

18. Following was the Balance Sheet of Sreshtha Ltd. As on 31st March,

2014: 

https://dl.doubtnut.com/l/_roOWGhZX52EL
https://dl.doubtnut.com/l/_PfBHWW9skYsa
https://dl.doubtnut.com/l/_8HBn8OV6wNlU


 

 

Notes to Accounts 

 

Prepare a Cash Flow Statement after taking into account the following

adjustment: During the year, a piece of machinery costing Rs. 30,000 on

which accumulated depreciation was Rs. 6,000, was sold for Rs. 20,000.

View Text Solution

19. Following is the Balance Sheet of Sreshtha Ltd. As on 31st March, 2014:

 

Notes to Accounts 

 

Prepare a Cash Flow Statement after taking into account the following

adjustment: During the year, a piece of machinery costing Rs. 40,000 on

which accumulated depreciation was Rs. 30,000, was sold for Rs. 9,000.

View Text Solution

https://dl.doubtnut.com/l/_8HBn8OV6wNlU
https://dl.doubtnut.com/l/_dAXIlancsN5i


20. Following is the Balance Sheet of Mevanca Limited as at 31st March,

2017: 

 

Notes to Accounts 

 

Additional Information: 

(i) Additional loan was taken on 1st July, 2016. 

(ii) Tax of Rs. 53,000 was paid during the year. 

Prepare Cash Flow Statement.

View Text Solution

https://dl.doubtnut.com/l/_hh2kLVq0erbY

